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QUESTION 1

Which of the following best describes a unit of work? 

A. It is a recoverable sequence of operations whose point of consistency is established when a connection to a
database has been established or when a mechanism known as asavepoint is created. 

B. It is a recoverable sequence of operations whose current point of consistency can be determined by querying the
system catalog tables. 

C. It is a recoverable sequence of operations whose point of consistency is established when an executable SQL
statement is processed after a connection to a database has been established or a previous transaction has been
terminated. 

D. It is a recoverable sequence of operations whose point of consistency is only established if a mechanism known as
asavepoint is created. 

Correct Answer: C 

 

 

QUESTION 2

Which of the following describes how DB2 9 stores an XML document if the XML Extender is not used? 

A. CLOB 

B. BLOB 

C. Hierarchically 

D. Rows and columns 

Correct Answer: C 

 

 

QUESTION 3

Which of the following is a valid DB2 data type? 

A. NUMBER 

B. INTERVAL 

C. BYTE 

D. NUM 

Correct Answer: D 
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QUESTION 4

Which of the following DB2 UDB isolation levels will only lock rows during read processing if another transaction tries to
drop the table the rows are being read from? 

A. Repeatable Read 

B. Read Stability 

C. Cursor Stability 

D. Uncommitted Read 

Correct Answer: D 

 

 

QUESTION 5

In which of the following scenarios would a stored procedure be beneficial? 

A. An application running on a remote client needs to be able to convert degrees Celsius to degrees Fahrenheit and
vice versa 

B. An application running on a remote client needs to collect three input values, perform a calculation using the values
provided, and store the input data, along with the results of the calculation in two different base tables 

C. An application running on a remote client needs to track every modification made to a table that contains sensitive
data 

D. An application running on a remote client needs to ensure that every new employee that joins the company is
assigned a unique, sequential employee number 

Correct Answer: B 
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